10.2

PAM-IEC
i el L

63B5

@96

':ht ;

Input bore
i AL

B14HE

B55h8

—— -—
B4 PR

-

Output bore

o 1

feld 1A |':|LL

Dm (HT)




Cm El -
Inputl:nma L
i A fL
__'E
HMRYV. VS il =
] &
Output bore -
5 AL
,_ :
PAM-IEC | N " 5 |umit o Dm (HT)
i L | (H8) ok M
| 5 (7.5|10 15|20 (25| 30| 40| 50 | 60 | 80 |100| Depth %
T1BS5 #1110 | @130 @160 5 |16.3|811
- - 14 |14 |14 | 14 | 14 |14 | 14 | 14 | - - - - 30
Ti1B14 @70 | &85 |@105] 5 |16.3| @7
1 L g -
63B5 a5 |@115|@140] 4 |12.8| €9
. - o B ol 1 e s i O R S O G s N e N N o A R 23
63B14 Bl | 75 | 90 4 |12.8]| ©6
56B5 @80 | 2100 EHEH. 3 |10.4| @7 | - H - £ - = k = = g =} [ 23

Weight : 2. 4kg
i * 2 Ak




B -

o | EEy 1
Dim ";"*r_'

w—la E =

rS

input bore e

WAL
1

PAM-IEC | N |
M P |\bm|tm| S .
BREH | (H8) 5 7.5 10| 15 20 25|30 40 50 60 80 100 Depth i
80BS |2130|2165 | @200| 6 11.-3“311 | | '
| 129118 (19118119 |19 | 19| = - - = - 40
80B14 | @80 |@100|@120| 6 |21.8| @7
T1BS |@110 @130/@160| 5 |16.3| 11
_ 14 |14 |14 |14 | 14 | 14 | 14 |14 | 14 | 14 | 14 | - 30
71B14 | @70 | @85 |@105| 5 |16.3| @7
6385 | @95 (@115(2140| 4 [128/@9 | - | - | = | = [ = | = | = [ 11|11 [ 11| 11| 11 23
83814 | @60 | @75 | @90 | 4 [128]|@8| - | - | = [ = | = =| = |11 |11 |11 |11 ] 11 23
Weight : 3.6kg
B - 3 6kn




i

>

Dim

Imput bore
!ﬁ._'. .-:"-.‘I'L

=

112
5 35 35

24,3

B25H8

Cutpul bore
WL

PAM-IEC | N | fm )
iR | (H8) 5 (7.5/10 15|20 |25 30 | 40 Depth i

L 50
f=

g ] =0 | - 40
|

14 | 14 | 14 30

Weight : 6.3kg

e PN . oam mgL




HMRV

B-MBxX 14

B2EHE

205

Chutpu
T

I bore

AL

PAM-IEC |
g 5/7.5/10/15/20|25]30 40 50 |60 | 80 100 Depth it
100/112B5| @180 |@215|@250| 8 |31.3|@15 |
- ol (oAl S0 - Rl IR NS [ S SR = 60
100/112B14| @110 |@130|@160| & [31.3| @9
gOB5 |©@130|@165(@200| 8 |27.3|@11
-- - - |24 (24|24 |24 |24 |28 24| - | - | — | - 50
80B14 | ©95 |@115|@140| & |27.3| @9
BOB5 |@130|@165|@200| & |21.8|@11
! - |- -|~-|19|19|13 |19 |18 | 19|18 | 19 40
80B14 | ©80 |2100(Q120) & (21.8]| &7 |
TIBS |c2110|o130{@160| 5 (163811 - | - | - | - | -|-|=-|-|14|14]|14] 14 30

Weight : Skg




b
:
i
ol
Igputlhurﬂ ﬁ &
A AL v
&
L
100
| 130 |
140
50 108 10 SR,
d—* =
B MBXZ20
r i ] |
] ¥ B35 HE &
N'I ljl o o
L= ]
3 Output bore
= 1 it 5 AL
1
PAM-IEC N .
\ M P 'bm|({tm | S | ] -_ _-
LA | (H8) 5 7.5]10 -m‘su 60 | 80 |100| Depth ix
D0/112B5| 2180 |©0215|@250| 8 [31.3|@15
- |28 |28 |28 | 28 | 28 | 28 | - = - 3 - 60
100/112814| ©110 | S130|B160) 8 |31.3| &9
90B5 130181658200 8 |27.3(611
: - |24 [ 24 | 24 | 24 |24 | 24 | 24 | 24 | 24 | - — 50
90B14 | ©95 | @115|8140| 8 (27.3| 88
B0EBS 130 | D165|€200] 6 |21.8|(811
! ! - - - ~ - ~ —. A8 118 19 | 18 |19 40
BOB14 | &80 |S100({G&120| 6 PR1.8 | B7
Weight : 13kg

- b
EEL 1

13k




127.5 160
) > s
il ks 252 5 .
- PR, | A
11 L1 '
0 :
B-M10X18 5 = o i ; |
" g g oo g S 8 2 |
L Iy =t Y | /2
= ol Input bore 3 : - =
fi1 A AL L | o
| o2 ) Ca
o
™
|
LL 111
—
115
L 144
12
AL 135
8 MI0K24 —IT: T ciissilion "
,]ig | 5
] | o
5.51 Qutput bore
= i i AL
5
PAM-IEC | N . Dm (HT7)
wiei (wey| M [ B o|Pmtm| S |
(H8) 5 IT.5 1n|15 20 zsiau m‘su Eﬂ‘ﬂﬂ 100/ Depth i
L L L 4 L L
13285 |2230(8265|0300| 10 (41.3|815] — |38%|38%|138° | 38" | - - - - - - - 80
100/112B5 2180 | &215|&250| B8 (31.3|8915| - |28 |28 |28 |28 | 2B | 28|28 | 25 F_'E-: - - 60
B0BS |@130|@165|@200| 8 |273|@11| - | - | - | - | - | 24|24 | 24|24 | 24 | 24 | 24 50
BOBS B13018165|89200| 6 |[21.8|18911| - = A - = 3 = = R - 118 | 19 =T
Weight : 21kg Mote:("Low profile key supplied by Haitec.

= 4 e

CEEE - Sl B e e -




b
Cim
i)
Input bore £ ] =
" Lk |
il AL : =
o ® = L
e ] +
|
14 [l
L 144 |
12
@42 HB o3
s
-
Cutput bore
i i AL
PAM-IEC | N | M | p |pm|tm]| s i i |
G L | (H8) 7.5/10 /15|20 25|30 |40 50 6080 [100] Deptn %
132BS |2230|0265 300 10 [41.3|815 38°138° | 38" | 387 | - < -t H = H & 1
ﬂﬂ.’ﬂiﬂjﬂmﬂ B215{8250| & |31.31915 28 |28 | 2B |28 |26 | 28 | 2B | 28 | 28 | - 5 60
S0B5 130 |0165|8200| & [27.3|811 = 1 = = - |24 | 24 | 24 | 24 | 24 | 24 | 24 20
BOBS B130 @165 8200 & |21.8(811 = e = £ 3 = 5 H — | R |18 40
Weight : 40kg Note: (" )Low profile key supplied by Haitec.

I'. i1
| ] I I I
LS I

| .

- 40kq

FEEE B R




i
FI
-
%'
1875 |
140
r
"l-.l

do g

130

Input bore

i AL 3

B1860hE

100

47

11

HMRV. VS -

M10X24 _ AD 155 P45HE
& o
o
=r
i » Output bore
&) il i fL,
&
=
-~ -~ - —— -
PAM-IEC | N | Dm (H7)
i HIEHL | (HB)

Weight : S0kg Note:(" )Low profile key supplied by Haitec.
i it 50kg PR e I AR




170 - 210 <
L 340 o L
E‘ 240 !
I fr——————— I} bm [
B-M12X22 = =
™ _ Dim
AN =5
- =t Input bore 2 =
$i1 A AL 3 S
o
G
1
725 725
14
B0 175 g @50 HE =
M12X28 L ) i
i T 111
?ﬂg - 5 Output bore
- i (L
rawiee | N | b lbmum | 8 - | |
(H8) 5 1?.5]1u 15}:1: zslau 40 | 50| 60 | 80 1nn] Depth
300 | S350 452.3|18016| — |42 |42 | 42 |42 | 42 | - - - - - - 110
L
41.3|1315]| - - - - | 38 |38 |38 | 3B | 38 | 38§ | - - 80
100/112B5( 2180 31.3|815| - - - -~ - | = - | - |28 | 2B | 28 | 28 60

Weight : 84kg

e B4 LS




